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BACHELOR OF SCIENCE (B. Sc.) 

Term-End Examination 
June, 2023 
Life Science 

LSE-02 : ECOLOGY 

Time : 2 Hours     Maximum Marks : 50 

Note : Question No. 1 is compulsory. Attempt all 

questions.  

1. (a) Define the following terms : 1×5=5 
(i) Autecology 
(ii) Community 
(iii) Producers 
(iv) Biosphere 
(v) Photoperiodism 

(b) Match Column-A with Column-B : 1×5=5 
 Column-A  Column-B 
(i) Condensation (1) A coastal 

region 
(ii) Mesophyte (2) Inward 

migration of 
species 
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(iii) Estuary (3) Living beings 
regulate the 
amount of 
water 

(iv) Immigration (4) Plants 
growing in 
moist habitat 
and aerated 
soil 

(v) Osmoregulation (5) Water 
changes from 
vapour to 
liquid phase 

2. Attempt any four of the following questions : 

5×4=20 

(a) Differentiate between the following : 

(i) Brackish water and Marine water 

(ii) Food chain and Food web 

(b) Discuss the process of soil formation. 

(c) Describe the carbon cycle. 

(d) Explain how communities interact. 
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(e) Discuss the characteristics of human 
population growth. 

3. Attempt any two of the following questions :  
2×10=20 

(a) Describe the characteristics of a lake 

ecosystem. 

(b) What is succession ? Describe the process 

of succession in rock. 

(c) Describe the causes of water pollution. 
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      LSE-02 

foKku Lukrd (ch- ,l&lh-) 

l=kkar ijh{kk  

twu] 2023 

tho foKku 

,y-,l-bZ--02 % ikfjfLFkfrdh 

le; % 2 ?k.Vs     vf/dre vad % 50 

uksV % iz'u la[;k 1 vfuok;Z gSA lHkh iz'uksa ds mÙkj 

nhft,A  

1- (d) fuEufyf[kr inksa dh ifjHkk"kk nhft, % 1×5=5 

(i) LoikfjfLFkfrdh 

(ii) leqnk; 

(iii) mRiknd 

(iv) thoeaMy 

(v) izdk'kdkfyrk 
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([k) LrEHk ^d* esa fn, x, 'kCnksa ls LrEHk ^[k* esa 

fn, x, okD;[k.Mksa dk lgh feyku dhft, % 

1×5=5 

LrEHk ^d* LrEHk ^[k* 

(i) la?kuu (a) leqnzh {ks=k 

(ii) leksn~fHkn (b) tkfr;ksa ds {ks=k 

dh vksj izokl 

(iii) Tokjuneq[k (c) og izØe ftlls 

thfor izk.kh ikuh 

dh ek=kk dk 

fu;eu djrs gSaA 

(iv) vkizokl (d) ikS/s mu LFkkuksa ij 

mxrs gSa tgk¡ feV~Vh 

ue vkSj gok 

fefJr gksrh gSA 
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(v) ijklj.k fu;eu (e) ty ok"i voLFkk 

ls rjy voLFkk esa 

cny tkrk gSA 

2- fuEufyf[kr esa ls fdUgha pkj iz'uksa ds mÙkj  

nhft, %   5×4=20 

(d) fuEufyf[kr esa vUrj dhft, % 

(i) [kkjk ty ,oa leqnzh ty 

(ii) vkgkj  Ükà[kyk ,oa vkgkj tky 

([k) ènk fuekZ.k dh izfØ;kvksa dh foospuk dhft,A 

(x) dkcZu pØ dk o.kZu dhft,A 

(?k) leqnk;ksa dh ikjLifjd vkilh fØ;kvksa dh 

O;k[;k dhft,A 

(Ä) ekuo tula[;k of̀¼ ds vfHky{k.kksa dh foospuk 

dhft,A 
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3- fuEufyf[kr esa ls fdUgha nks ds mÙkj nhft, %  

2×10=20 
(d) >hy ikfjra=k ds vfHky{k.kksa dk o.kZu  

dhft,A 

([k) vuqØe.k fdls dgrs gSa \ fdlh 'kSy ij 

vuqØe.k dh izfØ;kvksa dk o.kZu dhft,A 

(x) ty iznw"k.k ds dkj.kksa dk o.kZu dhft,A 
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